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Find the slope of the line containing the points (-3, 4) and (5, 4).  State whether the line is vertical, horizontal, or neither.

Find the slope of the line containing the points (-2, -5) and (-2, 6).  State whether the line is vertical, horizontal, or neither.

Write an equation in slope-intercept form, 
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, of the line through (0, 5) with 
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Write an equation in point-slope form, 
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, for the line through the points

(2, 6) and (-3, 5).

Write an equation in point-slope form, 
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(4, 3) parallel to the line with equation 
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Convert the point-slope form answer you got for number 10 to an equation in standard form, 
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Graph the equation given in the problem above (3x – y = 4).  You may use the coordinate system below, or create your own.
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